Note: This is Model Paper for guidance of students & teachers.
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2. Attempt any Five parts from the followings:-(5x2=10)

(i)

(ii)

(iii)
(iv)

(vi)

(vii)

(viii)

(iii)

(iv)

(vii)

(viii)

(ix)

N2 (ol 52012-14555%) A ozola (ZENUFmEJi

634 5 0455
Part I J;' -

Distinguish between longitudinal and transverse waves -Q/’;wL’m:’"lxidlf»u;er/J)uy/;LJg;prij/;iJﬁ’éfg’

U ferlinible Me Lt ibn-2

(i)
with a suitable example.
Why must the volume of a stereo in a room with PRy SNy s NS ui‘z,/ém/gg/}d"(p!l%gﬁug (ii)
wall-to-wall carpet be tuned higher than in a room with a U ~-+tnu;gJ£
wooden floor?
Define audible sound. Also descibe its frequency range. -Q/’/ulf.»,w.g(u‘%g}d/uw‘j"/.é/?d/%L/:/‘H}La" (i)
If at Anarkali Bazar, the sound level is 80 dB, what will be el U ST 180 dBURE LU Bt ()
the intensity level of sound there?
What is critical angle? Write the relationship between the L_f{i’i}géiwuﬁuﬁfé J:,/’-:‘J(?Lg;y y/;, ﬁiﬂ/ (v)
critical angle and the refrective index of a material? _ufic,bl/d/y Ul
Why is the driver's side mirror in many cars convex ’muri///u’gf/ Lg&/ﬂﬁyw;d}&g’wwﬂ( Zosks (Vi)
rather than plane or concave? fe
An object 4 cm high is placed at a distance of 12 cm 28 cm;%f}&ﬁﬂwgﬂ/_‘a4 cméL{:lJﬁ_Q (vii)
from a convex lens of focal length 8 cm. Calculate the -u"/?)’”@%gd/éutgij;/;klsécm
position of the image.
How nature of charges are detected by using ?‘Lfﬁlg'zlﬁézggo{id/ @/lgLnZ./JWU;J%}?l (viii)
electroscope?

3. Attempt any Six parts from the followings:= (6x2=12) Y e ling e Y S its -3
Write any two properties of electric field lines. -uf’@,gzr"'ud/ ’/fUﬂg‘J}gl 0]
A current of 3 mA is flowing through wire for 1 minute. uﬁfiﬁuiazgﬁf?+t/}@/3mAuﬁw1a,/"i;J}gi.gﬁ (i)
What is the charge flowing through wire? _@_/7?_

V, 1, 1 (i)
For an ideal transformer prove that 7, = v o1 S ekl L

s p s p

How capacitor works in resonant circuit? ?‘gb/(k}/ui’&f/%:z/ }f}f (iv)
How does the earth wire save us from electric shock J Lf«..f}?ié/ SN T o st NP5 s '/@i Jé}?!.,o (v)
when the line wire of the electric appliances gets ?‘gu’”ﬂ;ﬁfr_
demaged?
How short circuit happens due to decrease in resistance ?‘amdj_"f/;db“«;'gnﬁzgf%/‘f:f/ (vi)
of the circuit?
What is the working principle of A.C. generator? <Q/ug/‘9?9gdﬁ!KL/?KLﬁﬂA.C. (vii)
Why the resistance of conductor rises with increase in ‘?Laglgmzw:’/ :Jl]d/ }fi'/ o’( e ez (Vi)
temperature?
What is the relation between electric potential and ?‘a‘j‘ﬁ g&ﬁ%&ﬂd’%m%.ﬁgi (ix)

potential energy?

How the direction of current is reversed in the armature of ?‘gélg&fc)ufwd/&/v@?lui’i;ﬂ&/‘rD.C.

D.C. motor?

. Attempt any Five parts from the followings:-(5x2=10) -q)}fagLZélZlég;J/;u‘!djjzw_4

(i)
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(i) Define analogue and digital electronics. -q/.;u/"Jf‘L ISE S i)

(i) How is NAND gate made? Also write its symbol. -MﬁwaJu,u?%t@guéjNAND (iii)

(iv) What is the difference between primary memory and ?LLJ/'l{(uyj:Ld»ff SRl $095 8 /L; (iv)
secondary memory?

(v) For storing data, is the floppy disk more better or the hard L3 Anlidi WL Lo s ()
disk?

(vi) Write two uses of cathode ray oscilloscope. -Q/ug_«,m&mi_;ﬁhu/ W3 (i)

(vii) How much a 1g sample of pure radioactive material wwu}i’eéjgu Sl e (L/'i{i O/J:}ff.é’i/ia‘é/u‘}l} (vii)
would be left after four half lives? ?Jng

) P . 13 _
(viii) Find the number of protons and neutrons in the nuclide ! 7/';’;,4 o Jle | l[/; b 6X ol d/uf/":flfx. ! (viii)
13
defined by 6X

<‘j"/(k”;i,u7‘f/u”x
Part 11 (2 o
Note: Attempt any Three questions. (7x3=21) S Szl e e (L
5. (a) Define simple pendulum. Also prove that its motion is Y SHMIAS Ul S P Akt () 5

SHM. [4]
(b) A marine survey ship sends a sound wave straightto /1.5 s/;i+%@‘J&ﬂwgﬁg;d/ﬁvmdﬁ%ﬂ(g)
the sea bed. It receives an echo 1.5 s later. The speed of 1500ms” J:;J,.‘L'SL/U: dL L/M‘_‘L S s éfd/u'l

. . -1 o N
sound in sea water is 1500ms «J,/r)’”d'/d//ﬂ/w"ig’JLLc

Find the depth of sea at that position. [ 3]

6. (a) Explain the formation of images by ray diagrams when ‘j"/;wl.’n d/.:_ 7;!4,;,«‘,(][/2!5;/@’1 d//'&’g'gﬂ/,j(._ﬂ!) -6

the object is placed at (i) beyond 2 F L L L sl PAIF (ii)sme2 F (i)n%fw;/ﬁ?q

(ii) between F and P . Also give the nature.of image «'Vf/t"zu:&/!!rééjfhufé’
formed in each case. [4]

(b) A convex lens of a focal length'® cm is to be used to J;;»L:J@LwlzJK’LLG cmﬁf}dlﬁﬂugf%/l(y)
form a virtual image three times the size of the object. ?;guéugﬁfﬂ-‘;wé I
Where must the lens be placed?

[3]
7. (a) Define and describe Coulomb's law. [4] _q/wuwlwyﬂfuib“ﬁv)f(_ﬂ!) -7

(b) By applying a potential difference of 10 V across a = uﬁ}(jfw/ﬁ<+ 10 VJE/'S J}%JV’!L}Q‘/&Q(?)
conductor a current of 1.5 A passes through it. How much ?Jnd"b&)l(ffui‘w&;&/m?ng/ﬁ{&/1 5A

energy would be obtained from the current in 2 minutes.

[31]

8. (a) Write symbols of AND operation and OR operation. J’":j;}ﬁ Il u:“‘ial.w Jﬁ{f OR . ﬁ{!’ AND(I) -8
Also write their truth table. [4] S
(b) A step-up transformer has a turn ratio of 1:100. An S /14/7.‘¢1:100..~,~75Juu§u1‘ //u»‘!}g!*?vg(.,«)
alternating supply of 20 V is connected across the primary ( Vs ) 5» k2 ol in AL U AC.L20 VS
coil. What is the secondary voltage ( Vg ) . _q/r,bf

[3]
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10.

(a) Define fission reaction and explain fission chain

reaction. [4]
(b) Explain briefly the transmission of radiowaves
through space. [3]

Part i

Attempt any two parts of Question

(a

(i) Draw the circuit diagram for finding the
resistance of galvanometer by half deflection
method.

(i) In above mentioned experiment resistance
taken from H.R.B is 5000Q2 and deflection 6 =24,

the resistance taken from L.R.Bis 110Q2  to make

deflection half. Find the resistance of galvanometer.

[2+3]
(b)
(i) Write down the procedure and formula to find
refrection index of a liquid using a concave mirror.
(ii) How parallex is removed in the above
experiment. [2+1+2]
(c) In parallel combination of resistances shown in

the figure. Find the current I flowing through the

circuit, current through R1 and current through R,

[1+2+2]

(Practical Part)
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